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Time : 3 Hours Maximum Marks : 70

01) a)

b)

All Sections are compulsory
Section - A

Read the following passage and answer the questions that follow. Q)

Soapy was unsuccessful at getting himself arrested. As a homeless, jobless drifter,
he wondered how he would survive the harsh winter. He knew he would get food
and shelter in jail, if only he could manage to get caught while committing a petty

crime.

Suddenly he noticed a well-dressed man lighting a cigar at a cigar store. His silk
umbrella had been set by the door on entering. Soapy stepped inside the store,
took the umbrella and sauntered off with it slowly. The man asked for his

umbrella but Soapy asked him to call a cop-who was standing at the corner.

1)  What had Soapy been unsuccessful at?

i)  Why did Soapy want to get arrested?

iiil) What was the well-dressed man doing?

iv)  Where did the man put the umbrella?

v)  Soapy drew the attention of the umbrella owner to a police man because
1) he wanted to run away.
2)  he wanted to keep the umbrella.

3) he wanted to get arrested.
Read the passage and answer the questions. Q)

Knowledge has always been the prime mover of prosperity and power. The
acquisition of knowledge has therefore been the thrust area throughout the world.
Additionally in India, there has been a culture of sharing it, not only through the



tradition of guru- shishya but also by its spread to neighbouring countries through

travellers who came to Nalanda and other universities drawn by their reputation as

centres of learning. India is endowed with many advantages and competencies but

these are scattered in isolated pockets and the awareness of these is inadequate.

i)  From which lesson is this passage taken?
ii)  Who is the author of this?

iiil)  What is the main mover of prosperity?
iv) How is knowledge shared in India?

v)  What is the problem with India’s advantages and competencies?

02) Answer any Two of the following in not more than 100 words each.

03)

04)

a)
b)
©)
d)

Why did Gandhi feel that he had to simplify his life?

How does ‘Man’s Peril’ bring out Russell’s thinking about nuclear weapons?

What are the good qualities of writing according to L.A. Hill?
Bring out the central theme of ‘The Drunkard’.

Answer any One of the following in about 200 words.

a)
b)

c)

b)

How according to Kalam can a knowledge society be built?
Comment on Orwel’s ‘Shooting an elephant’.

What are the main ideas expressed in ‘Pecuniary Independence’.

Section - B
Answer any ONE in not more than 100 words.
i)  Bring out the theme of love in ‘The Last Ride Together’.
ii)  Discuss Shelley’s ideas as expressed in ‘Ode to the West Wind’.
iii) Justify the title ‘Mending Wall’.
Explain any ONE of the following:
i)  He is all pine and I am apple orchard.
ii)  This is my son, mine own Telemachns.

iiil) We slowly drove — He knew no haste.

2x4=8)

@)

(C))

(C))



05)

06)

7)

08)

29)

Answer any One of the following in about 200 words. (6)
a)  Discuss the theme of relationship in ‘Mending Wall’.

b) Bring out Keats’ love for nature.

c) Justify the title ‘The Last Ride Together’.

Section — C

Answer any One of the following in about 200 words. (6)
a)  Discuss ‘The Lottery Ticket’ as a study of human psychology?
b) Consider ‘Subha’ as a dramatization of the basic need for love and friendship.

c) Comment on the central theme of ‘Ha’penny’.

Section - D

Read the following passage and summarize it. Q)

Freedom has given us a new status and new opportunities. But it also implies that we
should discard selfishness, laziness and narrowness of outlook. Our freedom suggests
toil and creation of new values. We should so discipline ourselves as to be able to
discharge our new responsibilities. We should put into action our full capacity. Work
unceasing work should be our watch-word. Work is wealth and service is happiness.
The greatest crime in India today is idleness. Each one should work honestly, this is the
fundamental law of progress. Next to honest work is the habit of respecting other

people’s feelings. The law of love is a practical code of life.

Write an essay on one of the following: Q)
a) My ambition.
b) Women empowerment.

c¢) Education.

Answer any one of the following: Q)

a)  Write a report on ‘The Republic Day’ programme in your college.



b)  Write a report on a musical concert held in your city.

Q10) Use four of these idioms and phrases in sentences of your own. Q)
a) lookup to
b) bed of roses
c) crocodile tears
d) hand in glove
e) hand to mouth
f)  atarm’s length
g) close-fisted
h)  ina nutshell

Q11) Answer any ONE of the following: Q)
a)  Write a dialogue between two friends on the problem of unemployment.
b)  Write a letter to your friend congratulating him for topping his college.

c)  Write a letter to the commissioner about the problem of bad roads.

FE
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Q1) 8o& 5068 28 H08 DHS DY WO FODOE. 8)
a) DY FOG BIVE DY DB B8 S9H00
BYB DO B 5085 $oBgIE50e080S YRS DS
DY DEFNTBD DS, SHPEODH &0 HIPTO

E0QE0(EY To SBABIOEIED 330e0 &)ra?xﬁoageg ?

b) e H558:5 3PS50 CHYD (e S8 DGR O
TBIBD DYBO e5Pe5sS 80308565 000 DW(TeS 0
BB (2 300D B BGes DRS( (708, oS

SOBED HYO SHR E0V,( BOODH(HS BO DS ?

02) 8o® o0& H 350 o0& FoGOE3S HOLY HES Q)0 T2ADOG. 4x2=298)

€9-230¢50

a) WD SHEBoY 2O Bob.

b) Besos S50 Bose5 $5.OS.

C)  3R3E DOBRS ey TIREIDS.

d) 85055500 30,0 0B0( e38630S8!



€3-230¢50

a)  &EBBoTe BHOWRI D!

b) T CES BES ERS.

C)  DSBaIIG DG aazs%ééaimg.
d) SBEB0E30 DD 28 BD.

03) 8o& 0% HA 3750 B0 BN DEBTIGSO T2OHO. 2x7=14)
€9-230¢50

a) DB SOG Do EOEIBRD DBBODD SN DSOOTIB.
b) 8% §ERans DR ABD HSOOWOR.

€3-830050

a) BN PAS VOBLETR DSO0TO.
b) &8 5= HAPS dSOOTOH.

04) 8o& 0% HA 37050 208 28008 DH&TERSO TPODHO. 2x6=12)
€9-230¢50

a)  &0088)3RRPRIBIGE0 DB BSOS TLd TSRS MITIHO HBOOBOER.
b)  oeoHe S0 T3 ()5, WS, OFDS, BPTAEHLOD KIVOD TeoHOE.

€3-830050

a) VSR SE,B0SD Foesinen KsaRS50 DEEO0OH.
b) 080 OB B3O 15708 o HOG.

05) 8o& m006° Fo&oe38 HEBTGRTD TPOHOG. 2x6=12)
a)  Boo.

b) DORFBI00D.
C) dorsoeex.
d) <o



06) 8o& 5008 25D (5708 D2, V0 TPADO.

a)
b)
©)

07) a)

b)

DD BRI DG Hogs.
JBE DB LPBSIS® gD NS,
DBHE8B .

i)

if)

i)

if)

808 DS MDY 580 HEBRDS TR, WOBIB (HYOD AHED DE2IF0G.

S G056 FDFNT BT HPRODHOBOD HOYB,B0

(82)
808 TP 2867008 DECETSEIOT OFETPY BYOk.
1) sosso.
2) Be8a.

§o® 6’36560@5“ OO0 B9 0500 39 DENDE, 000508,

O OO B0 ¢ ADOSTROGSA0DS

(Sw0)
8080 ©00BTRO? 28 DS VESTBEI0Te OFEIO 8obs.
1) doeso.
2) Rg870%8.
FE K
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(©))

(C))



(DSAN21(NR))

Total No. of Questions : 8] [Total No. of Pages : 03
B.A./B.COM./B.SC./B.B.M/B.B.A./B.H.M DEGREE EXAMINA-

TION, MAY - 2017
(Second Year)
Sanskrit Paper — II (NR) (Part - I)

Time : 3 Hours Maximum Marks : 70
Q1) Answer any two questions: [2%x10=20]
7 I foEa |
a) Write the brief story of Nagananda.

02)

03)

b)

©)

d)

b)

AT, FHT T foraad |

Explain the dramatic skill of Bhasa with illustrations
TS TR Gy FEwd |

Sketch the character of Baladeva.

AT I HEd |

Write the story of “Sri Krishnasya Mytri
“sfiepeore T 3fq aTeeIWT W forEd |

How did viswamitra become Brahmarshi? [1x10=10]
fofm: %Y s Sya?
AT

Write an essay introducing “Acharya Sri Ramachandradi”

A= St THegeha: TR Herames foad |

Explain any two of the following with refer to context. [2%x3=26]
FeaT FE=GH T |

a) g gfn & et wafxr |

b) FERTHIFTA TE: |

¢) T CEHUTRA gy |

d) ¥ g3 % 9 Ta: |

e) T U@l REdaT |

f) fomhmes T & fohe=-EH |

g) Y Frorefmy firsam |

h) %W’d’l@ d o |



04)

05)

06)

7)

Write short notes on any two of the following
A F@?ﬂiﬁl forea |

a) arfa: |

b) eI

¢) WTEE:

d) EDLCH

Define and illustrate any two alankaras
Q?ﬁ: A T: Hgﬂuﬁ?ﬁ'{‘ﬁ forEa |

a) &I

b) 3@'@:

¢) T,

d) 3uET

Write the forms of any four of the following sabdas.

quit ffdsefawfery wmfor foaea |
a) H&d (1)

b) fergg (feehm)

¢) g - &t (qfram)

d) M - (Fw)

e) TSH - (Ts=Hl)

f) 31 - (YMT)

g) e - (fgetam)

h) e - (ST

[P.T.O.]
[2x4=8]

[2%x3=6]

[4x2=8]

Write the forms of any four of the following adding the given termination’s [4 x I = 4]

FqUI TACTIH AT fored |
a) © (ded)

b) a1 (=)

o) A (Fdad)

d) 3 (Iq)

e) o (A=)

) 93 (I97)

g) & ()

h) ™ (391)



08)

Translate any four sentences in to Telugu or English.

Tqut AR foEd |
a) GLd: TEdl: T |

b) JAT TS q&AT IS |

¢) UG S

d) THd S |

e) THg I T A |
f) e sva fomm |

g) oMl Terfa Tera: |

h) heeihel AYL e |

SISIS)

[4%2=8]
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SECTION - A

01) Tr=tafaa e i gye e Hifv |
a) i) Teh WUET Teh A, Teh 379 foeam |
i afctdd WY S, FTdeh garsie™ ||
37T
i) «Tfgr <Ra oA o, @Y T <R Sl
ST M A g3, hal L aET |17
b) i) hepeft 319 ofitm | wadl B Tk A
HER I a1 2 foh T Wl & q¢
B Thd 8, T HIAT SHUTAT &l & Tehell ||
37T
i) ¥ Y I A g U = g,
3R QT GI-gfee I i I T&/ |
@ ¥ g@ e I I,
SrAT-9T faeTar | 1 uTd |

¢) i) S EH, oM STH v ok § et fR ST |
SH-qU-US g 9 T, gt Tgid &1 33} 372 |
Y
i)  IT-eadeh, JT-FEAT,
J-HETETh, & JER |
W—ﬁﬁm,@—qﬁﬁ’
-7 o I I THEHN |

(18)



02)

03)

04)

05)

06)

forelt weh i =1 T forfaw | (10)
a) Tege |

b) offs T IR-IEAT & I |

¢) et T YTETA |

et Wk a1 ufem &fvT | (10)
i) qodEieE |
j) Tyt g foent |

K) SIS T |

foreht T fowar W fay faReaw | (10)
e) TEIHIH |

f) <M |

g) TAEI-SENT |

h) S&-9T |

i) gl |

forelt T Tifee fowa w freag faReaw | (10)
a) TTfeeprer uifeurfea ® yehmer etfere |

b) FT 9tk 3R G St 1 qi=d ST |

¢) THYRE 9N 3R qoeie™ 1 qi= <IN |

d) e i fahmE TR SRRt J@Te 1 ufEy e |

Fterfiad e = femdt | s1gene hifT | (12)
On the bank of river Penna, there was a village called Perur. In Perur, there lived a

poor Brahmin. His wife was on Orthodox. They did not have any children. They lived

in a small hut. There was a lime tree behind the hut. It bore many fruits. The couple

sold and lived on the income. The tree was to them dear as a son.

SISIS)
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(iii) Science & Civilization (Part - I)
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SECTION - A (2 x13=26)
Answer any two questions

Q1) Explain briefly about the Babylonians.
25029 DODS 0o H HHBOOTO.

02) Explain briefly about invention of wheel and its role in industrialization.
BB 3008, BDEBEEBN SO0K MO F2LOBGEI0S 30 G308, FPHBIL HBOOWOs.

03) Describe briefly about effect of modern agriculture on environment.
BEODE $355PODO SHOD HOYHSEIOD $gIPHTND DB5D0508.

04) What do you understand by “Bio-War”’? Explain with suitable examples.
“855-00EH0” OB ? B3 GresRSH8d S5O0TOk.

SECTION — B B x4=12)
Answer any three questions

05) a) Paleolithic age.
DOA3FPODE OHS5S0.

b) X-rays.
DESeo.
c) DDT.

Go8e3.



d)

06) a)

b)

d)

Radio.
3&33.

Biogas.
BS55000D).

Gunpowder.
55D086.

SECTION — C

Answer all questions

Who invented Calender?

B0oH50 DS BB ?

ICBM means

DD WO

Who invented steam engine

[FA1) od)og?(g DS ééoc‘i’éagci)

What is the another name for Vitamin ‘C’?

DERS ‘D’ 8 FHOAINE DEH DO ?

07) Choose the correct word.
DOATS DO (POOTIOL.

a)

b)

Radio invented by

i)  Grahembell

ii) Marconi

iii) Flemming

iv) Darwin

BBAI BLHE2F DS

)  §5500BS

i) BE0os
V) o9&

Which of the following is pesticide
1)  Methane

Bx4=12)



ii)  Phosphorous
iii) Detergent

iv) DDT
808 TDS® DO BHODOSTOES.
) &3S
i)  eHoo
i) &egoes
2
v) &&e

c) Typhoid is caused by
i)  Female mosquito
ii)  Plasmodium species
iii) Bacteria
iv)  Salmonella Typhi
B00E BSOS SRS
) &8ss
i) Fp,Gono dHen
iii)  engoote
V)  rer,3ep 82

08) Match the following:

a) Vitamin B Egg

b) Methaemoglobinaemia Vit-C

c) Scurvey Berry Berry
d) Silver Revolution Nitrates

a) DS D fgnles

b)  &0ERRETDIHODH eS-C
C) D8 B8535

d) Rexd dPBsED 38
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SECTION - A (4 x10=40)
Answer any four of the following
Each question carries 10 marks

Q1) Define Environment and give an account on the structure of atmosphere.

D0BBEFR) DT EDOD, B0WHSE0 AIVE, DT, E5I000 BODOL.

02) What are the uses of forest resources and give an account on the consequences of de-
forestation.

& HB5S5ZO© asos, BDAZTPHSVOE) OO B DPPBISND SOD BN DOEFHTIO0
BOD0SL.

03) Explain in detail about the available water resources and their management practices.

050270620658 DF DD 20 SSEVOV OO ToE3 DTETe ) (5708 SO0,

04) Write the values of the biodiversity.

e§a§§&c§6 DOVSOD 570G TPODO.

05) Explain the role of bio-geo chemical cycles in maintaining the equilibrium of ecosys-
tem.

&% vel) 65665?\;9 éaﬁom?’g@e?g 0oL, BH-85e-BODNHS  SO0TTo cﬁ)oée, @aéaﬁo
DS5O0T508%.

06) Enumerate sources, effects and control measures of air pollution.

3P0 See0F)g, SPTSLV, PPNV SOAKD DODOBED HLBOOIDD 5708 B0D0bk.



07) How can we manage solid waste?

POD&G DERCOT DD DTB7e0T5I0 ?

08) Explain the following:

a) Urbanization.
b) Global climate change.

§o&) 30830 D500

a) HEBESESL.
b) DO wewestes HIKY.

SECTION -B (3 x20=060)
Answer any three of the following

09) Write about the aims, objectives and scope of the environmental studies.

DT W3 ODSO O30T, VT &0, BT SHOOTV BHTBIVI BODOE.

Q10) Describe uses of mineral resources and impact of mining on the environment.

PR SO AINVE,; VBBCTEOT SO0 (0O BHE0 HOS 6’30365569303.3 (913}
DEPSBS HIO0TS0s.

Q11) Explain in detail about conservation of bio-diversity with suitable examples.

BBBOES, DOTEET HEPRTOD DB GrIsRSS® DIOOTOk.

Q12) Write the structure and functions of an ecosystem.

B35S D30 AT, OEOVD SOOI DTR,EISNID 5708 FoODOL.

Q13) What are the various characteristics of population? Explain.

BTgIe AR0E, OFEI00 DO ? DISO0TO.



Q14) Explain the following:

§o@ 00830 DHO00L:

a)

b)

d)

Acid rains.

8539 éo?qe)o.

Ozonelayer depletion.

&e8S Dot §35.

Disaster management.

DSBS DOVBOO DT T°ed.
@

Indoor pollution.
5)830 S0@0830.
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SECTION - A

Answer all questions

Each question carries 3 mark. (8%3=24)

Q1) Find the equation of the plane through the intersection of the planes x —y +
3z+5=0,2x + y — 2z + 6 = 0 and passing through the point (3,1,1).

X—=y+3z2+5=0,2x+y—224+6 =0 Sos5w0 OO0 wog00 BT

(3,1,1) &8 005 BHOTOOLED BOBNKI BHOGPEKOH0.

02) Find the angles between the linesx —2y+z=0,x+y—z=0and x + 2y +
z=158x+12y+ 5z =0.

xX—2y+z=0x+y—2z=0 o0 x+2y+2z=58x+12y+5z2=0

Sepe 50655 S8easinnen BBoGP &os0.

03) Find the equation of the sphere through the circle x? + y% + z? = 1,2x + 4y +
5z = 6 and touching the plane z = 0.

x2_|_y2_|_22:1,2x+4y+52=6ée)§o(i)oaaé“7€éﬁé)€)omz=0€§eﬁ§

R BOT G50 HOOBEBEFOD BX0E5,08.



04) Find the reciprocal cone to the given cone 3x2+ 4y2+ 522+ 2yz+ 4zx +
6xy = 0.

3x%* +4y? + 522 + 2yz+4zx + 6xy =0  SoHDHH = D)B0  FoED

B0E20000.

05) Show thatlim |[— = 1.

lim /%1 = 1 09D SPHOE.

n+l
n

06) Test for convergence Z(\/3 n+1- n)

n=l1

Z(%/ n+1- n) A, @DTETR HOBDOSOE.

n=l1

07) Show that f{x) = x* cos(1/x); x#0; f{x)=0, x=0 is derivable every where but the

derivative is not continuous at ‘0’.

fixy=xtoos(1/x); x#0; fix)=0, x=0 HSo0H0 DB DD DO, B OBSOOADO

©HBOED BOOATN Tod H)B0 0 &5 ODYFO SO TIPHOG.



08) Prove that if S, is a Cauchy sequence then {S,} is convergent.

{S,} 8%3) e908500 @008 {S,} @O0 BFEDI0 DEFR0TINBD.

Q9) a) )

SECTION-B

Answer all questions

Each questions carries 11 marks. (4%x11%=46)

A variable plane makes intercepts on the axes, the sum of whose square

is &*. Show that the locus of the foot of the perpendicular from origin to

the plane is (x ™2 + y™2 + z72) (x? +y? + z2)% = k2.

28 O HOHD BFHVOD WO WOBY POEHNL HO® B0FFN K

OV F0TPOVOEIE) 008 B3 $308 DD ©0RSHN DOBIDEGEHD

(x72+y724+272) (x?2 +y%2+ 2%)? = k? &8 <53250.

y-8 _z73
1 )

x+3 _yt7 _z76

-3 2 4

x_—3 y—8 z—-3 x+3 y+7

3

=122 YT 22 Bhe s, 509 Gmosn (S.D)

550000 e DRSS BHE205D.

OR



b)

Q10)a)

i)

i)

Find the equation of the sphere which touches the plane 3x + 2y — z +
2=0 at (1,—2,1) and cuts orthogonally the sphere x? + y? + z% —
4x+ 6y +4=0.

(1,-21) & 3x + 2y —z+ 2 = 0 Sosingo Q803 x° + y* +2z° —
4x + 6y + 4 = 0 558500850 ©022007° POGOTH HEEHN DOOBBEI0H0
BB0GP0050.

Show that the spheres x? + y% + 22— 64 = 0,x* +y2+z% — 12x +

4y — 6z + 48 = 0 touch internally and find the point of contact.
x24+y24+22-64=0,x2+y?>+2z>—12x+4y —6z+48=0 o3

&880 @OBTOT Q 1 BRRODHI 3T, QY,D0C0) B08%,08.

Show that the equation 2x? + 2y? + 2z2 — 10yz — 10zx + 2x + 2y +

26z — 17 = 0 represent a cone and find its vertex.

2x% +2y? +2z%2 —10yz — 10zx + 2x + 2y + 26z — 17 =0
DBBBHD 8 JOBODDD  DIeDOTHDID IR, e 95w

ES0H2:000.

Find the equation to the cone which passes through the three coordinate

axes as well as the three lines = = 2 = i, I_YX_Zggi=2L =%
2 1 -1 1 3 5 8 -11 5
Bt DERHE FED 0w oo = =2 ==, 2= =2
2 1 -1 1 3 5
=2 =2 B oo.00 D65 G550 DDOBGEE0D SL0EPH550
8 -11 5 o

OR



b) i) Find the equation of the enveloping cylinder of the sphere x? + y? +

z%2 — 2x + 4y — 1 = 0 having its generators parallel to the line x=y=z.

258 Ben ¥=)=z @ OPL DRSSO dotar, x2 + Yy + z2 —

2x+ 4y — 1 =0 o S5EH058 T, DIDHE DQEGHD B508%,08.

i1) Find the equation of the right circular cylinder whose guiding curve is

the circle through the point (1,0,0), (0,1,0), (0,0,1).

(1,0,0), (0,1,0), (0,0,1) PomoHe OO HweR FPBEHD0R

598 ©0HB0H BRDHHN 0L, DHBBEFY Bo8%,08.

Ql)a) 1) IfS, =1+ % + 3—12 + -+ 3%, prove that {S,} converges.
Sy=1l+id—+4 F— oond, {5, D500 ©DOOROED
3 32 3n )

DBeOT08k.

= (logn\
i1) Test for convergence Z( & j .
n=2 n

= (logn
Z( g ] B8 @90SeB0 HOED0SOS.
n=2 n

OR



sin(a+1)x+sinx

b) 1) Letf:R—R be such that f{x) = for x<0 f{x)=c for x=0 and

(x+bx2)1/2—x1/2 . .
flx)= e a— for x>0. Determine the values of a,b,c for which

the function is continuous at x=0.

(x+bx2)1/2—x1/2
bx3/2

sin(a+1)x+sinx
- Amar - jx sinx , x>0

fx) x<0; fix)=c, x=0 oo f(x)=

odlety f ROR @8%0s. x=0 56 HIoHEn ©PQYPO Se5wRs

a,b,c 050 DZowosols.

i1) Prove thattanx > x >sinxV xt (0,%) .

tanx >x >sinxVxt (O,E) O 3T 0.

Q12)a) 1) State and prove Cauchy mean value theorem.

8933 85065530 55009e)5 DEROTDS D5 DOD DETPOTHD.

ii) Using Lagrange’s Mean value theorem prove that 10.22<v/105<10.25 .

Bgeoed deRome]) €6A37A30® 10.22<v105<10.25 0 wnHobk.

OR

b) i) Show that f{x) =3x+1 is integrable on {1,2} and f12(3x + 1)dx = 11/2



fx) =3x+1 Hbovo {1,2} e@oso §os HHPREODODHO GO 5T

[ (3x + 1)dx = 11/2 &8 dtmd0508.

i1) State and prove Fundamental theorem of integral calculus.

0DTBOD éme)?omgoééaoéo DT DO0D DBIPOTIDHD.
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Answer any Five questions.

All questions carry equal Marks. (5 x14=70)

Q1) a) Explain the solids on the basis of

1)  resistivity and

i1)  band theory of crystals.

b)  Explain the position of Fermi energy level in intrinsic semiconductor.

02) a) Describe the construction and working of Zener diode. Draw its V-1
characteristics.

b) Explain how a Zener diode can be used as a voltage regulator.

03) Draw the circuit diagram of BJT. Draw input and output characteristics of a
transistor in CE configuration and explain the cut off, active and saturation

regions.

04) Define an Amplifier. Draw the equivalent circuit of RC coupled CE amplifier

and explain its frequency response.



05)

Q06)

07)

0%)

9)

Write down the advantages and disadvantages of negative feedback. Explain the
effect of negative feedback on gain, bandwidth, input impedance, output

impedance.

a)  What is barkhausen criterion of oscillations.

b) Explain the working of bistable multivibrator.

Explain the working of enhancement MOSFET with its output and transfer

characteristics.

Describe the construction, working and characteristics of UJT.

Explain the working of Colpitt’s oscillator.

010) Explain the construction and working of photo diode and LED.

GGG
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SECTION-A

Answer any three questions 3 *x16=48)

Q1) What are the characteristics of object oriented language.

02) What are the various if statements? Explain with examples and their syntaxes.

03) How can you initialize one and two-dimensional array? Explain with an appro-
priate example?

04) What are the various types of linked lists?

05) What are the operations of queues?
SECTION - B

Answer any four questions (4%x3=12)

06) What are the various access levels used in the declaration of classes.

07) What is the use of I/O streams.

08) What are the advantages of a function sub-program.



09) Differentiate between base and derived classes.

Q10) Write an algorithm to insert node.

Q11)What is depth first search.

SECTION-C

Answer all questions (10 x1=10)

Q12) What is the role of special operator?

Q13)Explain any two built-in functions in C++.

Q14)How can you access the address by using the pointer?

Q15) What is virtual function?

Q16) What do you mean by multiple inheritance?

Q17)What is tree?

Q18) What is data structure?

019) What is a Adjacency matrix.

020) What are primitive data types.

021) Write a syntax for “for ---- loop™?
X X X



